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Topic:- MED S2

1) According to Erikson, which stage results in a sense of independence because of one’s ability to control their own

actions?

sf¥a=iol @ SGRIR, A6 96 IaAT 3 ORI Al AP @I =i & PRIl @I orifea o1 b greIdar, Faddar ol g oI ufvma 3?7

[Question ID = 4016]

1. Industry vs. Inferiority / 3eiist gommet dleter [Option ID = 16058]

2. Initiative vs. Guilt / uset gomdt s dler [Option ID = 16059]

3. Autonomy vs. Shame and Doubt / Farwdr @t 9wt siiz s [Option ID = 16060]
4. Generatively vs. Stagnation / 3grr siiz sgad [Option ID = 16061]

Correct Answer :-
e Autonomy vs. Shame and Doubt / Farrddr doter 9t 3iiz 2ids [Option ID = 16060]

2) “Intelligence as a hypothetical construct, is the aggregate or global capacity of the individual to act purposefully, to think
rationally, and to deal effectively with his environment.” Who maintained this idea?

"gf el cafep &1 ulrascusticare divae, ARR® A1 APaw SEIAT B AT 3 Sl A dIfP® WU A Aldel, 3T9d Yot BRI Sii? srdel ardrarur & Arer gerrdt
@l A forucel @ forg JerI® 3 "' 54 frar @1 Aaet fevol fepan 3?

[Question ID = 4017]
1. Stern / cof

[Option ID = 16062]
2. Spearman / 3dkRde

[Option ID = 16063]
3. Wechsler / @52

[Option ID = 16064]
4. Terman / cafar

[Option ID = 16065]
Correct Answer :-
o Wechsler / dws53
[Option ID = 16064]

3) “Education is a process by which a child makes his internal and external”. This statement is given by

“f3181 web yfipRil 3 RRId GIRI U dIcIds o1 siiafas iz arar (forefon) axar 37 as weret o 3?2

[Question ID = 4018]
1. Rousseau / =it

[Option ID = 16066]
2. Frobel / m@e

[Option ID = 16067]
3. M. K. Gandhi / war. @ srieft

[Option ID = 16068]
4. Shri Aurobindo / srfdcy

[Option ID = 16069]
Correct Answer :-
® Frobel / m}dct
[Option ID = 16067]

4) Which one of the following is not one of the Gardner’s Nine Frames of Mind of intelligence?

forgsifer3aa 3 3 wlel AT sNSoR D ghy D Rigia ‘ol B a I A v ordl 3?7
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1. Verbal skills / aiiRam wlerer .
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[Option ID = 16070]

2. Mathematical skills / siforfrer wioret
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[Option ID = 16073]

Correct Answer :-
o Temporal Skills / 2Fder Bwca
[Option ID = 16073]

5) The fundamental duties are in which part of Constitution of India?

Jiiferes aocdorr Jfdenst @ fopaT st 3 3?7
[Question ID = 4020]

. Article 21(a) / sgesss 21 (@) [Option ID = 16074]
. Article 51(a) / smgeads 51 () [Option ID = 16075]
. Article 45 / sgeae 45 [Option ID = 16076]

. Article 17 / s 17 [Option ID = 16077]

AW N =

Correct Answer :-
e Article 51(a) / sieeads 51 (@) [Option ID = 16075]

6) Secondary Education Commission was appointed by the government of India in the year

HRA IIPR ol ARG 1811 3MrIleT @l vt ad 3 forge fpam?
[Question ID = 4021]

1. 1948 - 49 [Option ID = 16078]

2. 1952 - 53 [Option ID = 16079]

3. 1962 - 63 [Option ID = 16080]

4. 1975 - 76 [Option ID = 16081]

Correct Answer :-
e 1952 - 53 [Option ID = 16079]

7) The document ‘The curriculum for the ten-year school’ was published by

“ga ard fener @ e urgama” as ifficRa fpad orRI Yo s sri?
[Question ID = 4022]

NCERT / weriiéamt [Option ID = 16082]

NCTE / weriiét$ [Option ID = 16083]

NUEPA / sequt [Option ID = 16084]

DIET / st [Option ID = 16085]

A w N =

Correct Answer :-
e NCERT / worfidam<t [Option ID = 16082]

8) Free primary education is meant

for: grew yrafdres o181 A suery 3

[Question ID = 4023]
1. Universal Access / dsiifdra 3ucteerar

[Option ID = 16086]
2. Universal Environment / Jdsiiféren weifazor

[Option ID = 16087]
3. Universal Retention / ¥forazfer Rcorer

[Option ID = 16088]
4. All of these / sft fdaca

[Option ID = 16089]
Correct Answer :-
o All of these / il fdeveu
[Option ID = 16089]

9) Match the following: Institution with its location

forgotfeiRaa el @1 3UD Ferol A fircrer BifSRI: FiFemsr
www.FirstRanker.com
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fii x location / zemer
I l oarfiaﬁfmh(ﬁélflgnEﬁrﬁ‘?gped / IR w I. Sikandrabad

efcarftia wweRkstRanker.com www.FirstRanker.com
B. National institute of hearing handicapped / g I1. Mumbai / gas

ofauTaIfera Fzermet

C. National institute of orthopedically handicapped III. Dehrabun

/ arsdkr areifaf¥aclt sivermr / Ssagol

D. National institute of mentally handicapped / asda IV. Kolkata

BITeI31es forasetioT Fiverrot / Dleamian

Choose the correct answer from the options given below:

[Question ID = 4024]
1. A-1,B-1I,C-1,D-1IV
[Option ID = 16090]

2. A-IV,B-1,C-1I,D-1
[Option ID = 16091]

3. A-lILB-II,C-1V,D-1

[Option ID = 16092]
4. A-IV,B-1,C-1I,D-1I

[Option ID = 16093]

Correct Answer :-
e A-IILB-Il,C-1V,D-1I
[Option ID = 16092]
10) According to Information Processing Approach the statement ‘how to drive’ represents which one of the following kinds
of knowledge?

<ol YR SURTH @ 3[eRIR Pl 3 fop 'fepar yoor A’ sienfeilRaa # 3 e yoor @ sirar @1 gferforferea weear 37
[Question ID = 4025]

Self-Regulatory General Knowledge / ¥a-fiformie e sirer [Option ID = 16094]

Procedural General Knowledge / yfdmcsia 2miear sirer [Option 1D = 16095]

Procedural Domain Specific Knowledge / yfcpziead siojele fafsree siret [Option ID = 16096]

Self-Regulatory Domain Specific Knowledge / ¥a-faforimere sigpeld, fafsre siret [Option ID = 16097]

A WN -

Correct Answer :-
® Procedural General Knowledge / yfegeiieaies Jmiea siret [Option ID = 16095]

11) What is the meaning of ‘phonology’ in language development?

3TeT & faprRT A 'Far fasier @1 sref o= 3?7

[Question ID = 4026]

. The structure of speech sounds of a language / ve 9T b1 eafer forpictor &t 3eaen [Option ID = 16098]

. The simplest unit of language consisting of a single sound such as vowel / 91u1 @ 3cide sb1s, Sit fobft v eafor A a2 w2 anfga 3 [Option ID = 16099]

. A combination of phonemes that make up the meaningful units of language / Zaforr @1 v JRisier 3 Sit 9ITUT Y B Aefes B8 Torredt 3 [Option ID = 16100]
. The meaning of words of a language / v sirer @ oreat @t aref [Option ID = 16101]

AN wN -

Correct Answer :-
e The structure of speech sounds of a language / was simr @1 eafor forpictol bt Ieaen [Option ID = 16098]

12) According to Kohlberg’s theory of moral development, when a child sees a rule in absolute form, it is known as:

Plactae! & oiferd PRI Rigia sigRiR, S ud drcad / aifere! v forp @I guf u 3 Sadar / 3zl 3 al 31 @ar s 2:
[Question ID = 4027]

. Moral reasoning / diferes awerfes [Option ID = 16102]

. Moral dilemma / @ifere srwisrt [Option ID = 16103]

. Moral realism / aifer 1emefare [Option ID = 16104]

. Morality of cooperation / J&=ier & aiferasar [Option ID = 16105]

AW N =

Correct Answer :-
® Moral realism / diferep =renefars [Option ID = 16104]

13) A student wanting to remember the first seven elements in order visualizes hydrogen at the chair, helium at the sofa,

ata nd-so-on.A ordina to lnform on-Praoce na Annrao h h h_aona o ha followina mnamaon nas-doe

the student use? .
www.FirstRanker.com
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Ddlﬁi lost Sy e Qrlgw |\ 16106] i .
2. Peg-word method / da1-erss fafer [Option ID = 16107]  WWW.FirstRanker.com www.FirstRanker.com

3. Link method / feio fafér [Option ID = 16108]
4. Key-word method / st gres fafer [Option ID = 16109]

Correct Answer :-
® Method of loci / <t 6t fafer [Option ID = 16106]

14) Among the various views on Motivation, which one of the following is associated with both intrinsic and extrinsic

motivation?

gRun & fafdieol ol 3 A, sreifeiRaa as ®lel AT fRIR 3 Sl Sloll sriaf¥e iR a1e YRum @ ATA J3T 31T 37
[Question ID = 4029]

Humanistic / sireraardt [Option ID = 16110]

Socio-cultural / JmEnfs-AirDie [Option ID = 16111]

. Cognitive / 3istecares [Option ID = 16112]

. Social-cognitive / Jmwufs® isiencad [Option ID = 16113]

A w N =

Correct Answer :-
e Social-cognitive / Jmnfoid istoncra [Option ID = 16113]

15) The apex body for teacher education is:

forera forem bt 3<a ziven 3.

[Question ID = 4030]

UGC / =, Sft. ft. [Option ID = 16114]

NAAC / & [Option ID = 16115]

NCTE / wor. 2ft. ¢. € [Option ID = 16116]

. NCERT / ver. 2ft £ am. <. [Option ID = 16117]

A W N -

Correct Answer :-
o NCTE / wer 2ft. & § [Option ID = 16116]

16) Constructivist approach to learning is the outcome of:

3MfeEIH I IollaISl U @I ufyoma 3

[Question ID = 4031]
1. 1. Social psychology / menfSics sreifasie

[Option ID = 16118]
2. 2. Behavioristic psychology / casrRardt srsifisirer

[Option ID = 16119]
3. 3. Cognitive psychology / 3iseicdd FAailfdsiel

[Option ID = 16120]
4. 4. Both (2) and (3) / (2) sz (3) Qi

[Option ID = 16121]

Correct Answer :-
e 2. Behavioristic psychology / crasrarct seifdsier
[Option ID = 16119]

17) According to Tagore the finite form of humans tells about the characteristics of man such as

IR & IGRIR, Hleld I A Faeu, e &bt fagradrsii & an 3 garar 3 i
[Question ID = 4032]

. Universality and Ego / 2dsiiféreanr siiz see [Option ID = 16122]

Individuality and Ego / saftbea siiz sisat [Option ID = 16123]

Creativity and Ego / 3steiicsrapen aii2 31aa [Option ID = 16124]

. Creativity and Individuality / Jstencama 3z =ifepea [Option ID = 16125]

AWN—\

Correct Answer :-
e C(Creativity and Individuality / ISl sik =ifepea [Option ID = 16125]

18) The dialectical method of Hegel Consist of

o1t @I LgIcad ughe snfda 3
[Question ID = 4033] www.FirstRanker.com
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Correct Answer :-
e Thesis, antithesis and synthesis / uer (efif3r1), yfemer (ctefi¥rn) siiz 2isa3wor [Option ID = 16129]

19) Logical positivists eliminate metaphysics because metaphysics statements are

[Question ID = 4034]

Incorrect / gfegut [Option ID = 16130]
Non-sensical / smrfese [Option ID = 16131]
Inconsistent / swisre [Option ID = 16132]
Ineffable / smpersfier [Option ID = 16133]

A WN -

Correct Answer :-

e Non-sensical / sfsa [Option ID = 16131]

20) Accepted and confirmed by the Jain school of thought, which of the following does not belong to the category of
Triratna?

Siol SiTol 9IRAl B GRI ¥did ‘feeor’ bt oyufl 3 srenferlRaa wler o1t smar 37
[Question ID = 4035]

1. Samyak Gyan / 3w siet [Option ID = 16134]

2. Samayak Charitra / @ afsq [Option ID = 16135]

3. Samayak Prayas / 3w gzt [Option ID = 16136]

4. Samayak Darshan / @i gofet [Option ID = 16137]

Correct Answer :-
e Samayak Prayas / i g [Option ID = 16136]

21) According to which school a thing may be ‘is’ and ‘is not’ at the same time?

531 SireT oIRaT @ SIGIRIR U &l RT3 U ard 3l off ‘Fropddt 3’ afir ‘ordl ot ?
[Question ID = 4036]

1. Charvaka / arafas [Option ID = 16138]

2. Vedanta / dgia [Option ID = 16139]

3. Jaina / Siat [Option ID = 16140]

4. Buddha / dieg [Option ID = 16141]

Correct Answer :-
e Jaina / Stet [Option ID = 16140]

22) NMEICT stands for:

NMEICT o @1 3fdra wu 3:

[Question ID = 4037]

National Mission on Education through ICT / amsfiét & ammerer 3 fSremm uz It fioret [Option ID = 16142]
National Mission on E-governance through ICT / 3ms:iiét & amezper 3 $-ardofr W Arecir froret [Option ID = 16143]
National Mission on E-commerce through ICT / 3t & amezer 3 $-piort we Iwdir froer [Option ID = 16144]
National Mission on E-learning through ICT / 3msfiét @ smezrer 3 $-cifofor w2 sl fdrorer [Option ID = 16145]

A w N =

Correct Answer :-
e National Mission on Education through ICT / amsfict @ smemr 3 forgm w2 recir froret [Option ID = 16142]

23) Which of the following is a characteristic of Web2.0 applications?

forgatferiRaa 3 A1 @it I a9 2.0 sropgRIBI &I fadtuar 3?7

[Question ID = 4038]

1. Multiple users schedule their time to use Web2.0 applications one by one. / &% 3uisIddl udb-td BID dd 2.0 31 YRl BT WP B0l D e 36l IR
forertya w1 & [Option ID = 16146]

2. Web2.0 applications are focused on the ability for people to collaborate and share information online. / da 2.0 uftcradorer clisli @t 3ifolclisol SIoIbIS! ATSIT
@0l 3R AT HIol I g w diga 3 [Option ID = 16147]

3. Web2.0 applications provide users with content rather than facilitating users to create it. / d@ 2.0 cftcradorer 3u=ilerebatsil @1 531 Fotlol B fere Jfden gator
3ol bl TeIRI AR Yool dxd & [Option ID = 16148]

4. Web2.0 applications use only static pages. / da 2.0 3fojyRiier ddet D Yt BT 3wilel B 3 [Option ID = 16149]

Correct Answer :-

e WeDb2.0 applications are focused on the ability for people to collaborate and share information online. / d« 2.0 uiteiblol elloll Wl 3ilolclIsol SloIbRI ATSIT

B0l 3l AT Bl bt Il W Dfga & [Option ID = 16147{NWW FirstRanker.com

24) FTP is an acronym for
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2. File transmission Protocol / wiset giRifdigret gickaier [Option ID = 1
3. File transfer Policy / wrsel gipe difertt [Option ID = 16152]
4. File transfer Practices / wisel griwe Jfere=t [Option ID = 16153]

Correct Answer :-
e File transfer Protocol / wiset giriw: gictote [Option ID = 16150]

25) Who is known as the father of modern media education?

sngforas HifSr 18 @ frar @ U 3 =1 Strel Sirer 8?7
[Question ID = 4040]

Edger Dale / vsor 3c1 [Option ID = 16154]

Flanders / weissf [Option ID = 16155]

Erikson / uf¥wter [Option ID = 16156]

Charles Babbage / arc=f &3t [Option ID = 16157]

A wWw N =

Correct Answer :-

e Edger Dale / wssr Set [Option ID = 16154]

26) Which of the following statements is correct in the context of reflective teaching?

A. Reflective teaching is concerned with aims and consequences and not with technical efficiency.
B. Reflective teaching and professional learning are enhanced through collaboration with colleagues.
C. Reflective teaching helps mediate externally developed frameworks for teaching and learning.

D. Reflective teaching is informed by evidence-based enquiry.

forgotferRae 3t 2 dial 1 Ridorofier fdrgror & icet 3 w1t 3?7

A. Riaerefier forgre @1 g 3iik af*vmail 37 Jeacer 3 of Bl awmoildl ggiar @ ATy

B. 1z Rl @ A1 JFBAPT D A A Ridetoficr 181 31k =R {9181 Bl IGRI SIIar &

C. Riqorefiar fd1g1p sfifSuc arezr wu A 91810 3i 3ifeerer @ fore sravensii o f[AsRia @l dgs war &
D. Ridorefict 915100 @I 1A 3mentsd St GRI JfRAA fopan Sirer 8

[Question ID = 4041]

. Band C are Correct / B siz C 2@t & [Option ID = 16158]

A, Cand D are Correct / A, C 3iiz D 3t & [Option ID = 16159]

B, C and D are Correct / B, C 3iiz D 3t & [Option ID = 16160]

A and D are Correct / A siiz D 3@t & [Option ID = 16161]

-

A wWw N

Correct Answer :-
e B, Cand D are Correct / B, C 3iz D 3@t & [Option ID = 16160]

27) A person may be viewed as either creative or alienated, either carefree or confused. Which among the following is
being described in the statement given above?

U RIfth Pl IACICHD AT CIBT-ACTI AT Al R8s AT YA D WU 3 W1 Sl ADdl 3 JUR 6w s1e deret 3 forvaferiRaa 3 A e avier i

S 381 87

[Question ID = 4042]

1. An identity diffused individual as per Marcia’s Identity statuses / snf3fer &t uaarer &t Rerfel B IGRIR vhb Uadre! 3icHI-3icwI aldt 3 [Option ID = 16162]

2. A fully functioning person as per Roger’s theory / 3Rk @ Rigid @ 30RIR Y3t A% 3 ®MI d0l drell «afep [Option ID = 16163]

3. Aclient seeking psychoanalytic therapy because of deep seated fears stemming from childhood experiences. / scuol @ 3fosrdi 3 3usit s13t 313 B
PRU Jailfdecsyur fifdpet &t deter ol aren seed  [Option ID = 16164]

4. An individual scoring high on many dimensions of Gardner’s multiple intelligence theory. / s o @ @3 gfthen RBigld @ @S Rl 1R vdb I IDIsT R
[Option ID = 16165]

Correct Answer :-
e An identity diffused individual as per Marcia’s Identity statuses / sf3fn I usarer 6t RBeIfel & GRIR Th UsdIel 3IewI-3ieeT aldt & [Option ID = 16162]

28) Project is a problematic activity carried to completion in its natural setting this statement is related to this educationist-

“ufIISel v FRAICHD 1fel faftr 3 BRI saadl Yrapfere amararvr 3 ggr o= siar 3” s aue Asafserd 3 51 fdrgnfag Aa-
[Question ID = 4043]

Ross / 3wt [Option ID = 16166]

Stevenson / ¥<Idztet [Option ID = 16167]

Pears / fizrf [Option ID = 16168]

Rogen / 3311 [Option ID = 16169]

A WN -

Correct Answer :-
e_Stevenson / >Adsier [Option 1D = 161671

29) Theory of insight is based on the following WYWAAhEdF BERAIMe@r.com




A Figstianker's choice

. Behaviorism / wagrarg

: » FirStRaHKeEr eorii

www.FirstRanker.com www.FirstRanker.com

[Option ID = 16170]

2. Gestaltism / sreifesa
[Option ID = 16171]

3. Psychoanalyst / sonfaecsus

[Option ID = 16172]
4. All of these / sft fdca

[Option ID = 16173]

Correct Answer :-
e Gestaltism / sweifersa

[Option ID = 16171]

30) Truth is not stable in life, and Logical desire are the principles of this philosophy-

Shtaot 3 A Rer o1l & vd aifdbe swa1, 33 gofar @ Rigloa 3 -
[Question ID = 4045]

Existentialism / si¥acaars [Option ID = 16174]

Realism / Zremefars [Option ID = 16175]

Pragmatism / wragrars [Option ID = 16176]

Idealism / smgefarg [Option ID = 16177]

A w N =

Correct Answer :-
® Pragmatism / =asrars [Option ID = 16176]

31) What commission gave the concept of social change as modernization?

P21 mRIeT o snggforchiapaur @ WU 3 AefeIe ufadet &l sraemun &7

[Question ID = 4046]

Radhakrishnan commission / 2reraswiet st [Option ID = 16178]

Kothari commission / @68t smier [Option ID = 16179]

Mudaliar secondary education commission / gciferR sneifdre forgm smeier [Option ID = 16180]
Hunter Education commission / &2 f3ren smeier [Option ID = 16181]

A w N =

Correct Answer :-

e Kothari commission / @6R! sl [Option ID = 16179]

32) Which Commission commented, instead of promoting social and national integration and making an active effort to
promote national consciousness, several features of the educational system promote diverse tendencies?

P21 3IRIIBT of el fob ARMRID 3R ASERT THIDUT DI TGMI ol 3R AR AToll DI IGIAI Sol D 18 ARGA YART Dol D Joir, NI yourreil
dI o faoraard fafaer ggfe Al @ gerar el 37

[Question ID = 4047]

Primary Education Commission / greifdre fSremr srilsr [Option ID = 16182]

Secondary Education Commission / smearfdias forgm sieiter [Option ID = 16183]

Kothari Commission / @lorst smrier [Option ID = 16184]

National Knowledge Commission / eI sirot 3iriter [Option ID = 16185]

A W N -

Correct Answer :-
e Kothari Commission / @ioit smier [Option ID = 16184]

33) The concept of paradigm was advanced by Thomas Kuhn in which of his famous book?

Yfcrarel Bl JERUN 2ifda @goil of forgeliciRaa 3 A fova yrawm 3 ygferurica o efi?
[Question ID = 4048]

. The Structure of Scientific Revolutions / @I ¢awr sifw Asefbe ¥dicaret [Option ID = 16186]
The Structure of Social Action / &t J¢aag sifw Jteret vaoret [Option ID = 16187]

Discourse on the Method / 3@ sifor dters [Option ID = 16188]

How We Think / & dt féis [Option ID = 16189]

-

A w N

Correct Answer :-
® The Structure of Scientific Revolutions / ¢t 3caar sifw AEfefbd dgeret [Option ID = 16186]

for:9pca 3z sifsrart arer g @1 siftror siftiferrar, 200/ WerdrisstiRanker.com
[Question ID = 4049]



.‘wcFﬁgtﬂ%ﬁﬁéﬁeEsﬁrmﬂng and completing elementary education / yrfé foreir ol 316! d@lel 3l g1 dal @ ferw fepeit
, i
&

! rof l%%ﬁgﬁi ﬁéiégnd of fee or charges or expenses which may prevent him or her from pursuing and completing elementary
cabilf éﬁ’g v o W WWEIFSTREAKE!. SOt e = W EITS ERaTR Er CORT

3. 25 % Reservation to Socially and economically weaker sections in the neighborhood area / smei-urt @ & @& AEnfid 3R suffce maeiR dof @ fére 25
3mgur [Option ID = 16192]

4. 25 % Reservation to Culturally, economically weaker sections and disadvantaged society in the neighborhood area / 3mRI-urI @ &g @ i, nfdfea
B0 I DA ae! 3l Jfdrerr dfer st @ fere 25 % smeewr [Option ID = 16193]

Correct Answer :-
e Absence of liability of child to pay any kind of fee or charges or expenses which may prevent him or her from pursuing and completing elementary
education / fopeft sft PR & e AT RRT BT YPIATel Dol D fo1w g b1 Jerar bt srgufderfer Sit 3 yrRfda fd1em Bl Y1 B2l 3 Ab At 8 [Option ID = 16191]

35) Which one of the following statements is false about Piaget’s theory of Cognitive Development?

forgaifeiRaa 3t A Dol AT Beral RIS B AsiecA® BRI & Rrgia & dder i srera 3?7

[Question ID = 4050]

1. Pre-operational children are egocentric which means they tend to see the world and the experiences of others from their own viewpoint / gd
2ifpRIcHD T BDIGA Bl 3 ORImI 3ref 8 fop oWl IR 3l GIRI D 3e)ardl I 3Mol fteaplvr A 3ol bt ygfer aidt & [Option ID = 16194]

2. Pre-operational children are not egocentric which means they tend to see the world and the experiences of others from other’s viewpoint / gd
3ifpRIcTD T eI oidl Bl & foriaT sref 3 b 3ol IR 3R GRI D 3rojerd] Bl GIRI D efdeiur 3 Sxaal &t ygfey arcdt & [Option ID = 16195]

3. The adolescents of formal operations stage do not deny that other people may have different perceptions and beliefs / sfiuaif¥® ZifdpRmcsas azor &
P9l 531 a1t 3 PR oIdl BT b 3w clioll D Yeeael 3l fdeart fireel 8t 3t & [Option ID = 16196]

4. Imaginary audience is a result of adolescents being very focused on their own ideas, beliefs and attitudes / ¥®=i @ @RI, fearil i sfirgferll w fpolt
@ JIIfiD Di Blot BT ufdvime wicufsid i asf alar 8 [Option ID = 16197]

Correct Answer :-
® Pre-operational children are not egocentric which means they tend to see the world and the experiences of others from other’s viewpoint / gd
3ifpRIcITd T e ordt Bl & foriat sref 3 b 3ot IR 3R GRI D 3roferd] Bl GIRI D efdeiur 3 3xaal 6t ygfer arcdt & [Option ID = 16195]

36) ‘Evaluation’

JcAIDol
[Question ID = 4051]
1. Is a process used to determine what has happened during a given activity or in an institution / ve yftgen & forim! 3T 6 forerif¥a w2ol @ fer fpen siar &
fop fapeit atfer fafer @ Glaror ar fapeit 2izen 3 amr g3 & [Option ID = 16198]
2. Describes the status of a phenomenon at a particular time / fop=ft fardra 3wrr 3 wep @ean 6t efer @1 avfer w2ar & [Option ID = 16199]
3. Describes without value judgement a prevailing situation / sc fomfar & fen wep siiser Reifer a1 quier aar 3 [Option ID = 16200]
4. Makes no recommendations for action / @rial @ e @IS Brwifser ot war & [Option ID = 16201]

Correct Answer :-

e |s a process used to determine what has happened during a given activity or in an institution / v yfien 2 SRIwT 3uRier 6 forerifya oo @ e foper s 3
o5 fepaft sifer fafér @ Siarer @ fpeft 3iven 3 @@ g3m 2 [Option ID = 16198]

37) The view that ‘We are not given, but rather we create our own natures, characters and futures, and therefore are

ultimately responsible for being what we are’, represent

5 fearR o ‘5d saRI Fasm@, af¥q iz ufdwr Gar oél srn 3, afed a6 b &9 el Fa=i D Faumd, af¥e iR sfersT Jorrd 3, 3iie safere siae:
3 Sll 3 D feru a1 & R 3 v gRI yfeurfea 3?7

[Question ID = 4052]

Realists / =remefarfe=ii a1 [Option ID = 16202]

Pragmatists / geiisteraifczii @1 [Option ID = 16203]

Existentialists / si¥dcaarfe=i @1 [Option ID = 16204]

Idealists / smeofarfei @1 [Option ID = 16205]

A w N =

Correct Answer :-
e Existentialists / sif¥acaarfe=ii @1 [Option ID = 16204]

38) Teaching through the ‘inductive’ method means, proceeding from

‘srerdre fafer’ o smemer A 2ol @1 sref 3?7

[Question ID = 4053]

general to specific / e 3 fafsree &bt 3z [Option ID = 16206]
specific to general / fafdme 3 Jmae=n & 3l [Option ID = 16207]
macro to micro / et 3 g Hi sl [Option ID = 16208]

easy to difficult / et 31 wfdar & iz [Option ID = 16209]

A wWw N =

Correct Answer :-
e specific to general / fafdme 3 Amwie 6t siiz [Option ID = 16207]

end of education or even the beginning. Who said this?
www.FirstRanker.com
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B oF ot vicartd etidplion!o - 16210) :
2. Jiddu Krishnamurti / g awmgef or [Option ID = 16211WWW.FirstRanker.com www.FirstRanker.com

3. Swami Vivekananda / sawft fdepreig @1 [Option ID = 16212]
4. Rabindranath Tagore / ¥digemer &sirz @1 [Option ID = 16213]

Correct Answer :-
e Mahatma Gandhi / st stieft @1 [Option ID = 16210]

40) Which of the following fall under Open Educational Resources (OER) repositories?

foraot 31 3 Dlol-A1 b AP HATerGT e (pIy) A Aldafera ol 3?7

[Question ID = 4055]

. Videos of YouTube standard license / Iczra3vss a3 @ difs=r [Option ID = 16214]

. Videos of National Geographic / sioere fSrRispftbe @ difs=i [Option ID = 16215]

Videos of National Program on Technology Enhanced Learning (NPTEL) / ioreiet Qisjt sifel Sdilcifoll toaies cfofor (NPTEL) & difs=r [Option ID = 16216]
. Videos of Discovery Channel / f33@a3t detet & dif$=il [Option ID = 16217]

A wWw N =

Correct Answer :-
e Videos of National Program on Technology Enhanced Learning (NPTEL) / otoretet Qisyer aifel eailciisft voaizs cfofor (NPTEL) @ dif$=it [Option ID = 16216]

41) According to Information Processing Approach ‘automaticity’ is

oIl YATDUT EfScpIvT O AR FAd: TcTol 3

[Question ID = 4056]

. The process by which information gets into memory / s yftgen fSRId gRI Stietpit Wit 3 siedt & [Option ID = 16218]

. The ability to process information with little or no effort / SierRt @t @ =1 o YIRT & i ol &t gerar [Option ID = 16219]
. Creation of a new procedure for processing information / yzizas2ur Siierbi3t & fere v o yfdpanr ot forerfor [Option ID = 16220]

. Cognition about cognition, or knowing about knowing / swojaffer & &2 3f sroja]fer, = Sifelol @ aR 41 Sielenl [Option ID = 16221]

A w N =

Correct Answer :-

e The ability to process information with little or no effort / St @t @a 2 e YRt & Jnfda e 6t gerar [Option ID = 16219]

42) According to Language development theories, every word has a set of required attributes related to meaning. The
term that refers to the meaning of words and sentences is

oI frprT & Brgidl @ SRR, god® ores 3, sref A Adfia smagas fRIdradrsit ot v 9e alar 3 a6 ‘urf¥snfiie orss’ Sit orect 3 araeil o
sref @1 Jchifa war 3, wacran 3 -

[Question ID = 4057]

. Semantics / orsaref [Option ID = 16222]

. Pragmatics / wrmaaif¥esar [Option ID = 16223]

. Phonology / ¥a=fister [Option ID = 16224]

. Morphology / siafer faster [Option ID = 16225]

A W N -

Correct Answer :-
e Semantics / gweref [Option ID = 16222]

43) Effective use of portfolios for assessment does not require

‘UICBIeRN Jeidrol B YIrdl IuRier o fere smaga® oisl 3

[Question ID = 4058]

. Reviewing the portfolio with the student / &g @ mer Wicwifer 6t witem wom [Option ID = 16226]

Involving the student in decisions about portfolios / didwifert @ a2 3 forufil 3t @1 @1 enfdrer won [Option ID = 16227]
Converting Learner Performance in Marks / forgmeff @1 ygofer siept i gerferr [Option ID = 16228]

Establishing the portfolio’s purpose / uidwiferll @ 389 &I Femuon [Option ID = 16229]

AWN—\

Correct Answer :-

e Converting Learner Performance in Marks / foremeff @1 ggofor siapl 9 gerformr [Option ID = 16228]

44) The takes the ontological position that the stuff of the cosmos is mind, i.e., that all that exists is mental,
rather than material.

sifeeXciifSrarer Rerfer crar 3 5 g@1is @1 uerel aret 3, srerfa sit oo oft sif¥aca 3 3 ag sl 3, silferes ot

[Question ID = 4059]

1. ldealistic Monist / sugefarct slifsre [Option ID = 16230]

2. Interactionism / sia:fegzmars [Option ID = 16231]

3. Contemporary Dualism / JmpIciior gaars [Option ID = 16232]
4. Reductive Materialism / Rsfdca defafersa [Option ID = 16233]

Correct Answer :-
o Idealistic Monist / ameefard aMferee [Option ID = 16230] WWW.FirstRanker.com



» F"I Imﬁmratm,’ but take a less radical position, holding simply that mind and mental
4 diiff 1 W ry physical things and events, and their differences justify a conceptual
A tigirstranker's choice _ :
www.FirstRanker.com www.FirstRanker.com

AR UR ucrel Zaardt oidl 3, Afdpel A ves @at 39 efte aa 3 15 et 3iiR AR Tcony AwIe: siifers disi ik acesii A oo
Fracaygut adiel 3 fieor 3Kl 3, 3l JoId iR v Janf¥es 91c Bl 8 o6 3
[Question ID = 4060]
Representational Theory / gfeifoifer Brgia [Option ID = 16234]
Property Dualists / a1 gaarct [Option ID = 16235]
Contemporary Dualists / J#@ictior gaarst [Option ID = 16236]
Epiphenomenalism / cftftseiifdriferzar [Option ID = 16237]

A WN -

Correct Answer :-

e Contemporary Dualists / Jmreiciier gaardt [Option ID = 16236]

46) The UN Convention on the Rights of the Child (CRC) which requires the State to protect the child from all forms of
physical and mental violence and from torture and other cruel or degrading punishment or treatment was acceded to by
India in

YD AT, DI ‘dred AfDR SfforEr’ SOl A HidT XMdr 3 o d Sl Pl &2 dRe DI IARIR® vd AEIRie B A JeAdEa = 3R e et
SIoTD IS AT QAT off T $IRd of 3 3MfforRIA @I b1 ad I FdipR fosar o

[Question ID = 4061]

1989 [Option ID = 16238]

1992 [Option ID = 16239]

2009 [Option ID = 16240]

2006 [Option ID = 16241]

A W N -

Correct Answer :-

e 1992 [Option ID = 16239]

47) The aim of school mathematics is to develop ‘useful’ capabilities, particularly those relating to numeracy-
numbers, number operations, measurements, decimals and percentages.

farencriie a1fora o1 __

gferora

[Question ID = 4062]

. Main / =1 [Option ID = 16242]

. Profound / swset [Option ID = 16243]
. Narrow / 3fifdid [Option ID = 16244]
. Larger / =mua [Option ID = 16245]

_ g 3, IuAphl grrarsil o1 famrt fady @2 i Siel- A St e, Ailksre 2dfpns, 81 cpie™ a

A W N -

Correct Answer :-
e Narrow / 3fifdr [Option ID = 16244]

48) There is a need to reconstruct school curriculum in India for realizing the pedagogic potential of work as a

o1 b A 18 oI FHsTactsil B Yra del @ fere fereneriikl urgrarit @1 goreioor won aifdu aifés or1 @1

[Question ID = 4063]

1. pedagogic medium in stamina acquisition, developing skills and multiple-attitude formation / Jiaerofictar srsfor @1 forgmoMTd{iR dre=1d Joll b2, Diolcli a farferer
eftepiull @1 frat foen si 1@ [Option ID = 16246]

2. pedagogic medium in knowledge acquisition, developing values and multiple-skill formation / =it 3rsfor @1 forgmonflRT Are1er wolt D2, Fc=il a faferer dlorett
1 11 fperr s 21> [Option ID = 16247]

3. pedagogic medium in stamina acquisition, developing values and multiple-attitude formation / rstoficiar arsior @I forgmoIRT{RI eI Toll B2, Iyl a faferer
zfteepivil @ feprt fopen s 2 [Option ID = 16248]

4. pedagogic medium in knowledge acquisition, developing skills and multiple-abilities formation / siret srsler @1 forgmendfier amerst gott a2, wiorell a fafder
g1l ol fprt fapem s a1 [Option ID = 16249]

Correct Answer :-

e pedagogic medium in knowledge acquisition, developing values and multiple-skill formation / siret 3islor @1 forgmoncfiRr sreer dolt @2, =il a faferer wioreit
@1 fdopr1 foperr s 21> [Option ID = 16247]

49) The criteria to ascertain truth in social sciences is

ARNRIE fASTell 3 JART DI S BT BT AGIGS

[Question ID = 4064]

. Logical deduction on the basis of axioms and accepted theorizations / 3Jjfepii aiiz Tdfiapa iRl @ amenR w afbe foewier [Option ID = 16250]

. Cross validation using a logical deduction and procedural norms / aifdse foemwier vd yfdpRicad dreidm! &6t aige A, Al ot deflavzur [Option ID = 16251]
. Methods of ‘observation’ of human ideals and choice laden actions / #irera @ sicelt 3l otrdl 3 Y¥a drIf @ siadiidet @ @3id [Option ID = 16252]
. Accepted knowledge, logic, aesthetic experience and well-being / ¥diaa sirel, a®, cicid slojsa vd derd-memul [Option ID = 16253]

AW N =

Correct Answer :-
e Methods of ‘observation’ of human ideals and choice léﬂ@ﬁ/ﬂiﬁir/&ﬁ&ﬂkﬁﬁﬁ@ﬂﬂﬁmm @ araciioel & adtd [Option ID = 16252]
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[Question ID = 4065] www.FirstRanker.com www.FirstRanker.com
1. Increase an individual’s freedom to do what otherwise one could not do / 3ot @Eil @ fow =Iftp &l eIt deme, St d dA of a2 ur & [Option ID = 16254]
2. Increase one’s ability to make use of the freedom one already has / xiftb @I 3ueil uscl 3 Biclt FadqgaAr @1 IwRIPT B0l IR Jorre [Option ID = 16255]
3. Increase an individual’s freedom to presuppose what one could not do / o1 ®wil @& e =fep 6t el W26l B IaddA deme Sit d @2 of AD [Option ID =
16256]
4. Increase one’s ability to presuppose that one already has freedom / ifep &bt @yl 2ol bt gcr d@Ie b as usdl A Tadq 3 [Option ID = 16257]

Correct Answer :-
e |Increase an individual’s freedom to do what otherwise one could not do / 3ot Wil & fere wafts &t smeict g@Ie, Sit d J3A of B2 ur at [Option ID = 16254]

51) Gender roles are conceived, enacted, and learnt

Sis2 smenfya 9pfrpisii 6t sraemon fepRcact aen fiw, fowafeRan 3 axdt 3
[Question ID = 4066]

. Within a complex of structures / Jizaemsii @ sifeerar 3 [Option ID = 16258]

. Within a complex of inequalities / RGeS &t Sifeetar 3 [Option ID = 16259]

. Within a complex of relationships / il @ Sifectar 3t [Option ID = 16260]

. Within a complex of asymmetries / fawaramsit & sifeerar 3 [Option ID = 16261]

A WN -

Correct Answer :-
e Within a complex of relationships / 2ideif @ sifectar 3 [Option ID = 16260]

52) In Pedagogy of the Oppressed, Freire advocated a revolutionary pedagogy which has its goal in the

‘Iedif3dl o1 foren o & B2 of v Fpiferprl frgvrenq Fzgfer &t 3 Rrrm! g fowafeilRaa 3 3

[Question ID = 4067]

1. conscious, creative action and reflection of the oppressed masses about their liberation / T Jfstolicae fpRn vd 3ifS SlorRwgs @I 3Musit #iep w2 Ridor
[Option ID = 16262]

2. conscious, political action and revolt of the oppressed masses about their liberation / =1 eir fipRn vd 3cifSa Siorise @1 3ol gfep @ fere aifer [Option
ID = 16263]

3. pedagogy, educative action and removal of the oppression of the oppressed masses / forgmwronse Sifére fogen va Icdifda SorRwEE @ 3adiser a1 forarur
[Option ID = 16264]

4. pedagogy, legal action and education of the oppressed masses about their liberation / feigmuenzq wrofoft figen va IafifSa Soriege 6t smueh gfep @ fore forgm
[Option ID = 16265]

Correct Answer :-
® conscious, creative action and reflection of the oppressed masses about their liberation / i1 Jstotcaia feppn vd 3cdif$a StorRwgs @I 3ol #ieh w2 Ridor
[Option ID = 16262]

53) Which of the following is one of the key concepts of Montessori’s educational system

forgot 31 A wlet Al ARA3 b 1181 =Iaven bl vd FI=T ARV 37
[Question ID = 4068]

1. Growth activity / gfég sifeifafér [Option ID = 16266]

2. Independent activity / sucaforiz siferfafer [Option ID = 16267]

3. Emotional activity / siraeicare sifeifafer [Option ID = 16268]

4. Freedom activity / Jadeq aiferfafer [Option ID = 16269]

Correct Answer :-
e Emotional activity / siraetrcares siferfafer [Option ID = 16268]

54) This was not one of the major decisions taken on account of Sir Charles Wood’s Dispatch:

‘arcad gs 33U’ @ sioR fer s1u forofil 3 31 foror wap gern forofRr oidl e

[Question ID = 4069]

1. New system would be governed by a bureaucracy at every stage / o wIazell §d IR W Ub alicp2ona! 3y ufsarferd asft oft [Option ID = 16270]

2. New system would aim at acculturating Indian children in European attitudes / o crazen @I gl IReARI sl Bl JRIURT eftedlvil 3 IRAFDT DI AT
[Option ID = 16271]

3. New system would use English as a medium of instruction / o wrazer 3181 @ seEr & e sBE)sH @I e 2ol arctt eff [Option ID = 16272]

4. New system would have personalized and decentralized exams / o$ crazen 3 cifepord ¥R wR f[Adfoga udleme aloft off [Option ID = 16273]

Correct Answer :-
o New system would use English as a medium of instruction / &1 cerazern forgmr @ are=re @ 1w 3iB)eit @1 s3caIeT Dot arctt oft [Option ID = 16272]

55) According to Rousseau, education should be according to and the learner is to be the man.

WAl D 3rofAR Ign @D 3MoAIR Blofl aifdu 3z fdrgmelf 331 RIfTD dol
[Question ID = 4070]

www.FirstRanker.com
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Correct Answer :-
® nature, natural / gaofer, giopfes [Option ID = 16276]

56) UNEP stands for

UNEP b1 3morr 3?7

[Question ID = 4071]

United Nations Environmental Policy / e 2ree; wRiiazur ofifer [Option ID = 16278]

United Nations Environmental Programme / 3RJp g waifaur wrfaer [Option 1D = 16279]
United Nations Environmental Protection / 3R 2reg u=ifazur gt [Option ID = 16280]
United Nations Environmental Parameter / 3igep 2reg wifazur $mwfies [Option ID = 16281]

A WN -

Correct Answer :-
e United Nations Environmental Programme / 3 g waifasur @wriaer [Option 1D = 16279]

57) To generate environmental awareness, Paryavaran Vahini Scheme was launched in

WRITGUT SIPReMI IcUool Mol @ fere, ‘ufasur aifdell Alsion’ 9pe ol a8
[Question ID = 4072]

1980 [Option ID = 16282]

1990 [Option ID = 16283]

1992 [Option ID = 16284]

1988 [Option ID = 16285]

A WN =

Correct Answer :-
® 1992 [Option ID = 16284]

58) Head office of Centre for Environmental Education (CEE) is located at

A2 iR vorareldice uvdret (1€2) @1 yenar oriorn Rrea 3
[Question ID = 4073]

. New Delhi / = f&eett [Option ID = 16286]

. Bhopal / siaret [Option ID = 16287]

. Ahmedabad / sm#cmEre [Option ID = 16288]

. Coimbatore / ®Rriagz [Option ID = 16289]

AN w N -

Correct Answer :-
e Ahmedabad / s@arerarg [Option ID = 16288]

59) The Ring of fire lies in the

‘f¥a1 3ife BRIR’ Reda 3

[Question ID = 4074]

. Indian Ocean / f& s@rRmeR 3 [Option ID = 16290]

. Pacific Ocean / yorid ssrRIBR 3 [Option ID = 16291]

. Atlantic Ocean / sfeeiife® #isRIBR 3 [Option ID = 16292]
. Antarctic Ocean / sierfeas 3 [Option ID = 16293]

A wWN =

Correct Answer :-
e Pacific Ocean / ggii sBRIER 3 [Option ID = 16291]

60) According to Piaget's stages of cognitive development the concrete-operational stage is associated with -

fORITSI @ HSIGIcAD DRI & azersil @ efAR I Jfdprcas Alure fpad A1er J3T 831 3?7

[Question ID = 4075]

1. Imitation, memory and mental representation / sreet, Jdfer iz ammeiRies gferferféira [Option ID = 16294]

2. Ability to solve abstract problems in logical fashion / aifts® u 3 s o=l @1 Jdenor wot bt grerar [Option ID = 16295]
3. Ability to think hypothetically and deductively / @rcufore 3iiz fopmiae u 3 del & gwiar [Option ID = 16296]

4. Conservation, Decentration and Seriation / eI, f@ddia=ur sl 2fif¥Rerer [Option ID = 16297]

Correct Answer :-
e Conservation, Decentration and Seriation / 3izgm1, fddia2ur siiz 2fifRerer [Option ID = 16297]

61) Gardener in his theory of multiple intelligence talks about number of intelligences.
MdoR o yual Rigimag e i a2 @ gfec &t aaf &1 2
[Question ID = 4076] www.FirstRanker.com

1. 4 [Option ID = 16298]
2. 6 [Option ID = 16299]
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e 9 [Option ID = 16300]
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62) MOOC stands for

MOOC 1 3morT 3

[Question ID = 4077]

. Massive Open Online Course / &3 Heirol u2 Xetr sifotemsel uigraps [Option ID = 16302]
. Modern Online Open Classroom / 3mgfore siferetrsel 3ituet et [Option ID = 16303]

. Modern Online Open Course / 3mgford siforetisat 3iluet @i [Option ID = 16304]

. Massive Open Online Classroom / &3 Suirol u2 sifelctsal @et geft [Option ID = 16305]

AW N =

Correct Answer :-
® Massive Open Online Course / &3 dtrel 2 el sifelemsel uigaradt [Option ID = 16302]

63) After seeing two students fighting with each other, the teacher asks how exactly did the fight started. The question is

QX BIGI B TP A IS WAl D dIG, Pigid ypar 3 b s araa 3 BA 9s 58 9o 3

[Question ID = 4078]

1. Open Ended / 3 ysst [Option ID = 16306]

2. Close Ended / dc ym@fet @ ysat [Option ID = 16307]

3. Restrict the choice of response for the respondent / gferarct @ fere sigjfcpRn Sot P uic @I yferfeia @3 [Option ID = 16308]
4. Checking an item out of given responses / ¢t s1$ yferfagzmsi 3t 3 fasaft gt &6t Sifa azen [Option ID = 16309]

Correct Answer :-
e Open Ended / b geat [Option ID = 16306]

64) “Education without character and character void of purity would be of no good”, is said by

“afeq @ féer forgm siie ufdqar A MWa afq 3 ordl SP” Y1 war sienfeilRaa 3t 21 o war 37
[Question ID = 4079]

Nehru / a% [Option ID = 16310]

Dewey / sgg [Option ID = 16311]

Gandhi / stieft [Option ID = 16312]

Swami Vivekanand / zamfl fdasteic [Option ID = 16313]

A w N =

Correct Answer :-
e Gandhi / srieft [Option ID = 16312]

65) Which of the following is not an Existentialistic thinker?

forgat 31 A Blol v silacaard) faare &t 8?7
[Question ID = 4080]

Kierkegaard / fsadenc [Option ID = 16314]

Frederic Nietzsche / gsfe@oficar [Option ID = 16315]
Bertrand Russell / ads 231 [Option ID = 16316]
Jean Paul Sartre / Sffer diet 3r3¢) [Option ID = 16317]

AW N =

Correct Answer :-
e Bertrand Russell / a&s 33t [Option ID = 16316]

66) According to which of the following philosophy ‘Realization of Self’ can be one of the aim of Education?

srefiferlaa 3 A fopar gofer @ sl “sied ot dter” fAren @ 3ol i A v IT9A B Apar 3?7
[Question ID = 4081]

Realism / Zremefars [Option ID = 16318]

Naturalism / yapferars [Option ID = 16319]

Idealism / smeofarg [Option ID = 16320]

Pragmatism / wrasrarg [Option ID = 16321]

A w N =

Correct Answer :-
® |dealism / smgefars [Option ID = 16320]

67) Which of the following books was written by Plato on Education?

Dlal 2l fbam ‘weiel’ gt forgm ur ferxdl ars?

fQtrestiomtb—=4682}

. The Republic / g Rufectes [Option ID = 16322] i

. Educational Philosophy / weemrer fweiraint [Option 1D =VWY3Y . FIrstRanker.com
. Education of Plato / wgdter 3w wiel [Option ID = 16324]

. Emile / ufdrer [Option ID = 16325]

A w N =
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lepublic / a&uﬁ? [rO,ptio ID = 16322]
RIrstranker s CholCe
www.FirstRanker.com www.FirstRanker.com

68) Concept of Sustainable Development focuses on

Add fadrRT & e ur diga

[Question ID = 4083]
1. Economic Development / suféfe frt

[Option ID = 16326]
2. Social Development / Jmnfsis faamrr

[Option ID = 16327]
3. Environmental Protection / weiiaformer izgor

[Option ID = 16328]
4. All of these / 2msft fraseu

[Option ID = 16329]

Correct Answer :-
e All of these / it fdapeu

[Option ID = 16329]

69) Suppose, Air Quality Index in North Campus, Delhi University is 164 and Vasundhara, Ghaziabad is 402, What would be
the status of air quality as per National Air Quality Index, CPCB?

3ol efifSte, ary suradr Jawmid sifef du ¥, el frafeencrt 164 3 siir azier, suformac 402 3, @R ISCRI R IVTadl Jadic, HdiidE

@ 3oAR &dl Pl spurardr bl Rerfer 81 Aw«dl 3?7

[Question ID = 4084]

1. Satisfactory in North Campus, Delhi University and Severe in Vasundhara, Ghaziabad / sifef duzt, feecht frafdencrr 3t Jdsions 3l ajerr, snforens i sisfie
[Option ID = 16330]

2. Good in North Campus, Delhi University and Moderate in Vasundhara, Ghaziabad / sifef dut, feeeft feafdencrr 3 srcer ik a3jeri, snfSriers ¥ #eer [Option

ID = 16331]

3. Moderate in North Campus, Delhi University and Severe in Vasundhara, Ghaziabad / sifef duz1, f&ecft frafdencrr # ae=m@1 sk ajera, suformars i sisfiz
[Option ID = 16332]

4. Very Poor in North Campus, Delhi University and Poor in Vasundhara, Ghaziabad / sifef duzt, el feafdenerr sz a3jerI, snfSriers 3 sisflz Fu A d6d FRE
[Option ID = 16333]

Correct Answer :-

® Moderate in North Campus, Delhi University and Severe in Vasundhara, Ghaziabad / sifef du, f&ecft fafdencrr # #e=m@ 3l a3jerRI, suformars # sisfiz
[Option ID = 16332]

70) Who said that "A teacher can never truly teach unless he is learning himself. A lamp can never light another lamp

unless it continues to burn its own flame"?

fRp2r01 el 5 “u Rigid oot oft araa 3 ol Rz Jwar s/ ae & a6 g oél 2ka @1 8. v Slud Bt ot G Sus B ga191 oidl
ADAI & S| AP a8 G MUl ¢l PBI oldl sretrer 3”7

[Question ID = 4085]

. Mahatma Gandhi / @rean siieft [Option ID = 16334]

. Sri Aurobindo / ¢ff srfdcr [Option ID = 16335]

. Rabindra Nath Tagore / >dloggtrer siiz [Option ID = 16336]

. Swami Vivekanand / Jarft fRidwreic [Option ID = 16337]

A W N -

Correct Answer :-
e Rabindra Nath Tagore / ¥dlogere &z [Option ID = 16336]

71) The name of Yashpal Committee Report (1993) is

orarer ot fruré (1993) o1 grer oiat kS

[Question ID = 4086]
1. ICT in Teacher Education / feigia forgror 3t ans it <t

[Option ID = 16338]
2. Learning without Burden / forerr farorr st @

[Option ID = 16339]
3. Learning without Broadcasting / fStem feremm yzmur @

[Option ID = 16340]

4. N f th / =1 ot o1df .
one of these / sl 3 ¢ oft oicl www.FirstRanker.com

[Option ID = 16341]
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LA.onE[i estepnker's choice

72) Read the following statements and deduce the correct inferences among the given options.

Statement: Article 21A states that state shall provide free and compulsory education to all children of age of 6 to 14 years
as a state made by law determined.

Inferences:

I. Right to education is absolute fundamental right.

Il. Right to education is conditional in a sense that it depends upon state in what manner it can provide the education.
lll. It does not cover age from 0 to 6 for providing education.

IV. It doesn't guarantee common schooling for all the children.

forraiferRaa weret ol ug 3R fGu s1v faeu 3 A3} sigperet cPmd
Del: eI 21A madr 3 b I 6 A 14 ad &l sy D 1l gl Dl Dol GRI forerf¥a s @ wu 3 Jgud sii? siforart 181 ygror @w¥n

forsopel:

I. g1 @1 siferpr gul wu A difere siferor 3

Il. forem o1 3iffrp1= 33 aref 3 Aord 2 b a5 Isw uR forskz e 3 b ag fvar afiad A I8 Yglol &2 ADr 3
ll. =15 3181 Ygrel 2ol @ fere 0 A 6 &t 331 bt AR o1&t e &

IV. @15 2100t gl @ fore amamea Tapedt forgn bt s1Rét ordl Sanr @

[Question ID = 4087]

1. 1, and 1/ 1, a1l
[Option ID = 16342]

2. 0, Nand IV /11, 1 3 IV
[Option ID = 16343]

3. L tand IV /1, Il &R IV

[Option ID = 16344]
4. lland IV / Il a2 IV

[Option ID = 16345]

Correct Answer :-
e |, llland IV / II, Ill 3z IV
[Option ID = 16343]
73) Read the following statement about Gandhian conception of ‘Nayi Talim’ and pick out incorrect one:
I. Gandhi advocated 9 years (7 to 16 years) investment / devotion for basic education.
Il. Gandhi was staunch supporter of amalgamation of productive work in academic education.
lll. To Gandhi, state sponsorship should be the acid test of good education.
IV. For Gandhiji, English should be the prime medium of instruction in post basic education.

‘o1$ darcliar’ &bt stiefiardt sraermeunm o> an i forrsifeiRad wereT ud iz slcia  a>eret darg:
. orieft or gformdt forem @ fére 9 wrer (7 2 16 Arer) @ fordrer / Frardur &t FHrqfer &H
II. srieft Sigifore A8 3 Srurce BRI & AFICr B yaea Aaele A

Il s1ieh & feru, Isa @ YrilSiel 3 3rcd! 181 @I BOR AlGISS UR USIEIVI loll aifdw
IV. sriehisht & ferw, siv)sht gformd fAren & g fAren w1 YgRa A3 ol aIfde

[Question ID = 4088]
1. land Il are incorrect / | 3z || sretea @

[Option ID = 16346]
2. Iland Ill are incorrect / Il 3z Il sreta &

[Option ID = 16347]
3. land IV are incorrect / | 3iiz IV sreta &

[Option ID = 16348]
4. lll and IV are incorrect / lll 3iz IV sretea @

[Option ID = 16349]
Correct Answer :-
e |ll and IV are incorrect / Il 3iiz IV srcma &

[Option ID = 16349]

74) One of the following methods is not prefergipig\p. EaastR AeRiered@pproach’ of assessment?

forgor faferil 3 31 v fOrgmrell 3 &R Jcdimol B ftcmIvT Bige o1&l 37
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ﬁﬁfﬁéﬁ[’@mﬁm [Option ID = 16351] .
Proble Fsﬁvmg m ﬁm@@mm [OptionygwikAFEirstRanker.com www.FirstRanker.com
4 Uses of rubrics / 3fdat @ 3ueier [Option ID = 16353]

Correct Answer :-
e Conducting written test / feiRaa wten w1 smritster [Option ID = 16351]

75) Which method is appropriate to assess the socio-personal skills of the child at primary level?

il fafer grefdre Far R o= @ AISIP-RAfRBoTA BIole P 3Ibclol B0l D o1 IR 37
[Question ID = 4090]

. Self-Assessment / amea sfciicpet [Option ID = 16354]

. Peer-Assessment / 3e@di gcariapet [Option ID = 16355]

. Assignments / yga @rf [Option ID = 16356]

. Homework / 318 urs [Option ID = 16357]

AW N =

Correct Answer :-

® Peer-Assessment / Japitt fceiicpet [Option ID = 16355]

76) If the student is not able to grasp the meaning of the words in problem solving, which kind of error does he / she
commits?

afe DI DI AIRT- AAMETGT A 916c D 3ref DI 3T utol A ek 18 3 Al a5 wlat At gfe wear / wdt 3?7
[Question ID = 4091]

. Reading Error / ugat 3 gfe [Option ID = 16358]

. Comprehension Error / 2w=t gfe [Option ID = 16359]

. Transformation Error / uf¥adat gfe [Option ID = 16360]

. Process Skill Error / gfegen @loret gfe [Option ID = 16361]

A w N =

Correct Answer :-
e Reading Error / usal 3 gfe [Option ID = 16358]

77) The consistency of the tool indicates

IupvT B Rerar o P ol 3

[Question ID = 4092]

. Validity / erer [Option ID = 16362]

. Administrability / gomier gwrer [Option ID = 16363]
. Reliability / fa=aofierar [Option ID = 16364]

. Usability / 3wnfrr [Option ID = 16365]

A w N =

Correct Answer :-
o Reliability / feasreiiiar [Option ID = 16364]

78) To find the Social acceptance of individual students in a given situation, the teacher can use

oot ufeRerfer 3 srcmr1-31c101 BIGI 6 AENRIE Fdaft o s & e Pigm IuRNeT B2 ADd 37
[Question ID = 4093]

Peer Appraisal / @ acetiaet [Option ID = 16366]

Socio-Metric / mnfsip-3fifca [Option ID = 16367]

Self-Report / ¥a f3urd [Option ID = 16368]

Questionnaire / ysatmacit [Option ID = 16369]

A w N =

Correct Answer :-
® Socio-Metric / Jmenfip-afifca [Option ID = 16367]

79) The purpose of encouraging students to involve in mathematics games, puzzles and stories is to

BIGI DI SUTARI e, udcell il Dalforil 3 icvol Bl D UIS DI GRS &
[Question ID = 4094]

. Learn mathematics informal way / sifdrd seituarf¥as adtar sieton [Option ID = 16370]
. Solve the critical problems / #iacayvf yssit @1 aet 2ot [Option ID = 16371]

. Thinking differently on mathematics / s1fdra uz aretor @st 3 e [Option ID = 16372]
. Prepare study notes / sie=rIor 3] dotrelt [Option ID = 16373]

A wWw N =

Correct Answer :-
e |earn mathematics informal way / a1fdrd sieiluaif¥e dsiar sireon [Option ID = 16370]

80) Anecdotal records of a child help in )
www.FirstRanker.com
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...,ItolEienglRa’nwkreritﬁm QAT 3 arRafdd ®asR o avfer awon [Option ID = 16374]
lf.&)ﬁll?g rk-?r hﬁw @ fere yfegfte Sorr [Option ID = 16375]
Flllmg cumu ative records o

student / o1 1 21l g WeIEPPSERANKEIcom www.FirstRanker.com
4. Preparing lesson plans / urs @stenail d=i= ason [Option ID = 16377]

Correct Answer :-
e Depicting the actual behavior in natural situations / Farenfae ardrazvr 3 adfde =[srR @1 avlsl w2 [Option ID = 16374]

81) To know the child’s academic progress in careful and continuous manner, which tool is appropriate?

g &Y e YpIfer & fa 3 earet gads iz Aad adid 3 Siiolel @ 10 wlol AT SUDBT I 37
[Question ID = 4096]

Observation / smaciiaser [Option ID = 16378]

Anecdotal Record / 3urcenre @S [Option ID = 16379]

Rubrics / 3fd@ [Option ID = 16380]

Check-list / a@-3t [Option ID = 16381]

A WN =

Correct Answer :-
® Observation / sm@ciiaar [Option ID = 16378]

82) According to NCF-2005, the aim of evaluation should be

worrfiow -2005 & 3R, JcAiDol BI TIg Bloll AT

[Question ID = 4097]

1. Attainments of educational goals / Sifare crg=ii &t uerfeerii [Option ID = 16382]

2. Attainments of marks and grades / fotoret 3l 33 <t uctfeerii [Option ID = 16383]

3. Development of textbooks and curriculum / gaoi 3l urcris @ fdora [Option ID = 16384]
4. Improvement of teaching learning material / forgrr siféert Jmwe] @1 e [Option ID = 16385]

Correct Answer :-
e Attainments of educational goals / diféra cigii &bt suerfeerii [Option ID = 16382]

83) The defense mechanism that involves unconscious denial of the existence of something that causes anxiety is called

31 e, KRl vl aeg @ safts @ sifRaca @ skider Alace 3 srdioriar Bilza 3, sa Riar & oRuT o wad 3
[Question ID = 4098]

Rationalization / aifddbiaszur [Option ID = 16386]

Regression / am=ft [Option ID = 16387]

Repression / @atet [Option ID = 16388]

Sublimation / 3<a setrel i fegemr [Option ID = 16389]

AW N =

Correct Answer :-
e Repression / gder [Option ID = 16388]

84) Memory associated with facts and general knowledge is

el ik ARG 6l A i Fgfer 3

[Question ID = 4099]

Semantic Memory / aref Jwgstdt 2gpfer [Option ID = 16390]
Implicit Memory / siafsffda zafer [Option ID = 16391]
Priming Memory / @wozer 3@dotdt Jafer [Option ID = 16392]
Episodic Memory / grifsre 29fer [Option ID = 16393]

A wWw N =

Correct Answer :-
e Semantic Memory / sef datft gfer [Option ID = 16390]

85) Which neurotransmitter stimulates muscle cells to contract but slows contractions in the heart?

Dlol AT RRIGRAAIC HRTAIRIT Bl PIAIBISI DI 3fofael Bl D ferg FAfSIa wdr 8 cfdet &g d Iimde @l efiar w2 Sar 3?
[Question ID = 4100]

Gaba / smar [Option ID = 16394]

Serotonin / 3Rt [Option ID = 16395]

Endorphin / saeiftser [Option ID = 16396]

Acetylcholine / sieri@iferst [Option ID = 16397]

1.
2.
3.
4.

Correct Answer :-
e Acetylcholine / sdersaiferar [Option ID = 16397]

a5 N 1w ordl A e 3 Ridra & Reeit 3 urn sor AR W RS ER AR 5. G0 srazen 3 Rioshia & smar 3
[Question ID = 4101]
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Correct Answer :-
® A Personal Fable / v® wifepsra wfeud aer [Option ID = 16399]

87) An old motto of the U.S. Army was, “be all you can be”. This concept fits well with Carl Rogers's theory of

3If¥h el b1 Ub grrol 36l ara=r e, 3mu il 3l Add 3 A IqerRvn arct Aski & Rigia i enfda 3?7
[Question ID = 4102]

Unconditional Positive Regard. / smgferder JRIcas e [Option ID = 16402]

Empathy. / asrepgfer [Option ID = 16403]

Self-Actualizing Tendency. / sneafdifés I ygfer [Option ID = 16404]

Real Versus the Ideal Self / arafie semr suc-3nsef [Option ID = 16405]

A W N -

Correct Answer :-

e Self-Actualizing Tendency. / sucaf¥ifes ot yafer [Option ID = 16404]

88) According to Sternberg, which type of intelligence has a low relationship to academic success and would be the most
difficult to measure in the classroom?

Icoledl @ AR, [5A goR & gfy @I 18I Awerdar A oo Ade 3 3z Dl d A6l A Didel sen?
[Question ID = 4103]

1. Practical / =aaifss [Option ID = 16406]

2. Analytical / fasa3wunesias [Option ID = 16407]

3. Creative / e [Option ID = 16408]

4. Verbal / onfége [Option ID = 16409]

Correct Answer :-

® Practical / =masif¥as [Option ID = 16406]

89) A psychologist asks people to envision a circle. Next he asked them to draw the circle they envisioned. When
comparing the pictures, almost all circles looked identical. The fact that a circle typically fits a specific and rigid set of rules
is an example of

U HGIISIIOIE clldll bl Ueb T bl BeUoll Bl @ o1 Badr & 53D a6 Ioslol 3os IA da DI Hidal D fere war, RSrRIbI Isaiol weue &t
ot Rl &I gorell D=l IR, PRI Wil ISl TSI A A A As & b v Tay 33 dik UR formaAl & v fafdrse 3iik @k A 3 fibe doar
3 SADI TAT IGIEWT 37

[Question ID = 4104]

Natural Concept / yrapfera smemun [Option ID = 16410]

Formal Concept / sfiuarf¥a siqemon [Option ID = 16411]

Fuzzy Concept / wsit smerun [Option ID = 16412]

Prototype / gidiersu [Option ID = 16413]

A W N -

Correct Answer :-
® Formal Concept / siuanf¥e smaemum [Option ID = 16411]

90) In which of Piaget's stages does the child become capable of abstract reasoning?

RISt & 521 arvr 3 arers 3Exd a@ 2ot 3 ASEA B S 37
[Question ID = 4105]

Sensorimotor / sieifocil @1 JFarctor [Option ID = 16414]
Preoperational / gd 3ifegenesres [Option ID = 16415]

Formal Operations / sfiuaif¥® 2idrctor [Option ID = 16416]
Concrete Operations / 3 fareter [Option ID = 16417]

A W N -

Correct Answer :-
e Formal Operations / sfiuaifse Jiarcter [Option ID = 16416]

91) Which theory of emotion relies heavily on cognition and labelling?

HIGGIT BT Bial AT RIgia srepgfer siiz dafeier ur aga fonsk waar 3?7
[Question ID = 4106]

1. The Common Sense Theory / 3= sirot Brgia [Option ID = 16418]

2. Cannon and Bard’s Theory / dlu 3iiz ars @1 Brgia [Option ID = 16419]

3. James And Lange’s Theory / & 3iiz cls1 @1 Bigia [Option ID = 16420]

4. Schachter And Singer's Theory / omacz siiz RBR @1 RBrgia [Option ID = 16421]

Correct Answer :-
e Schachter And Singer's Theory / oz aiiz B @1 Rrsia VOWWW JFErstRANnker.com
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Knowledge / siret @ad & [Option ID = 16422]
Dialogues / 3iarg @aa 3 [Option ID = 16423]
Information / 3Jaen @wad & [Option ID = 16424]
Illusion / st @ & [Option ID = 16425]

A W N -

Correct Answer :-
e Knowledge / =iret waa & [Option ID = 16422]

93) Which of the following is not a function of education psychology?

Foldl A = 118 HAaiifdsIor oI BRI oidl 37

[Questlon ID = 4108]

To make better teachers / d&a? sreaue gotront [Option ID = 16426]

Arrangement for all students to come / 1t feenfafeii &t amer Siror bt werazen w2enm [Option ID = 16427]
Improve teaching-learning process / foremr-aiférer yfdgen @t A& dotront [Option ID = 16428]

Making better students / srcer feneff gomer [Option ID = 16429]

AWN—\

Correct Answer :-
e Arrangement for all students to come / usft ferenfeRii &t srmor Siror Bt wrazen @on [Option ID = 16427]

94) Any system of education should be such that

foretr b1 @I Tt gunetl $:1 YR &l glofl anfsu &

[Question ID = 4109]

To fulfill the mental and economic needs of the nation. / g & #r6IRid 3iie suféfe smageradrsii &t yfef a2 3> [Option ID = 16430]
Only to meet the requirements of agriculture / @act @it 6t sragaaanil 6t gfef w2 3@ [Option ID = 16431]

Can supply all the comfortable things / 2usft & smREGRIS aqgaii 6! gfef w2 2@ [Option ID = 16432]

Completely privatization of education / {9t @1 guiaean sfiaur @2 A [Option ID = 16433]

A W N -

Correct Answer :-
e To fulfill the mental and economic needs of the nation. / g &I s 3iiR snféfe maermdarsii &l yfef @2 a1 [Option ID = 16430]

95) Who is the author of the book '‘Dimagi Gulami'?

‘el sl yraw® @ craw o 87

[Question ID = 4110]

Baba Sahib Bhimrao Ambedkar / arer a4 sfierma spdsw: [Option ID = 16434]
Rahul Sankrityayan / Jrget Jtidearier [Option ID = 16435]

Atal Bihari Vajpayee / sreet ferRl aeieft [Option ID = 16436]

Rabindranath Tagore / 3fdegemer Ssiz [Option ID = 16437]

A W N -

Correct Answer :-
e Rahul Sankrityayan / ge1 Aimarmer [Option ID = 16435]

96) According to Samkhya philosophy, '‘Mahat' is related to

AR c9fol D IIGRIR ‘Had' AFdfeia 3
[Question ID = 4111]

. Intelligence / gfz [Option ID = 16438]
Soul / smear [Option ID = 16439]

Body / 9rz [Option ID = 16440]
Senses / sfogzi 31 [Option ID = 16441]

AWN—\

Correct Answer :-
e |Intelligence / gfg [Option ID = 16438]

97) The way to reach true knowledge is called

A SIel OB UGl D a3 Bl @8l Sl 3
[Question ID = 4112]

Bhakti / sifep [Option ID = 16442]

Dhyan / eret [Option ID = 16443]

Praman / ggmor [Option ID = 16444]

Anuman / sigpgriet [Option ID = 16445]

AW N -

Correct Answer :-
® Praman / ggmur [Option ID = 16444]

98) “Teaching is a relationship which keeps the child to develop all his powers”. This is stated by
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2. Ryburn / 2rmst [Option ID = 16447] www.FirstRanker.com www.FirstRanker.com

Gage / 31t [Option ID = 16448]
4. Clark / @emas [Option ID = 16449]

w

Correct Answer :-
® Ryburn / Irmasf [Option ID = 16447]

99) The type of evaluation used to identify learning difficulties of students is

ferenfRRil b siffera Bfders:il @I usdiclol @ Rl Acaidol DI Biol AT YPR GBI CIRIT SIAT 37
[Question ID = 4114]

Bench-mark / ameigs [Option ID = 16450]

Summative / e [Option ID = 16451]

Diagnostic / foreretcaie [Option ID = 16452]

Formative / 3ixdeicaras [Option ID = 16453]

A w N =

Correct Answer :-
e Diagnostic / ferretcaia [Option ID = 16452]

100) Nature and Nurture refer to

‘gapfer siiz digor’ @I gorfa &

[Question ID = 4115]

Internal and External Environment / 3iidafse siie arer wifaur [Option ID = 16454]

. Temperament and character / asma 3ik af¥q [Option ID = 16455]

. Physical features and temperament / silfere Jfeens siiz Faemma [Option ID = 16456]
. Heredity and Environment / smgdforaar siiz waifazur [Option ID = 16457]

A wWw N =

Correct Answer :-
e Heredity and Environment / amejdfdrear iz weifazur [Option ID = 16457]

www.FirstRanker.com



